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= 1.00 396, 510. 00 396, 510
& Hi 1E%HeH - 1.00K 2,222,894.00 2,222,894
&S .36
L BEREIER (2)  BERDE H560mm L=6. OmZ (1X18) AHTH~EEART
£ b L - BIRTiE BT = L= i & % W E " =
BEYBEHEER
= 1.00 3, 826, 338. 00 3, 826, 338
BREL - EAHER
= 1.00 337, 410. 00 337,410
& Hi 1E%HeRH - 1.00K 4,163, 748. 00 4,163, 748
&5 .37
L TLEEMRM (1) FRP D1SOPSEY miZsH
£ b L - BIRTiE BT = L= i & % W = " =
ZEEEMm FRP D 180PS#Y
B 24.00 102, 676. 00 2,464,224/6.00H / 8H
MM EXE OV
% 0.50 2,464, 224.00 12, 321
& B 1E%HeH - 1.00K 2,476, 545. 00 2,476, 545
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RIER-EI/ Svyr— SHI6E E AEAS(ERE B )R EE (-7 5m) T BH A T H(H20)

#5 : 38
BT REEIHM (2) FRP D18OPSE! HhZ8H 1%y
% L R - Bk B % = B ' # mE w &
REERM FRP D 180PSZY
=] 4.00 102, 676. 00 410,704 6. 00H / 8H
AR £4E0%
% 0.50 410, 704. 00 2,053
& B 1E%X8ED - 1. 00K 412, 757. 00 412,757
#5:39
&% EREPRHAE =D
% L R - Bk B % = B ' # mE w *=
= 1.00 120, 000. 00 120, 000
& Bl 1E%X8ED - 1. 00K 120, 000. 00 120, 000
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